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pS Computer Science - I 2.106
Label Mnemonics+ operand Comments -]
LOOP | DCRD ; Decrement the D reg. by 1

JZend ;if D = 0 then go to end.
INXH ; Increment the HL pair by 1.
JMP Start | ; Again go to start.
MOV A, C ; Transfer content of reg. C to acc.
_ STA 4070 H ; Store result at 4070 H.
Hz.m RST1 ; stop processing.

66)  Write a program segment to find the largest number in a series. The length of the
series is stored at 2500H and the numbers are stored from 2501H. Store the result at
2405H. B (Oct. 2007)

Ans: )

Label Mnemonics+ operand Comments
START | LXIH,2500H ; address for count
MOVC M ; count in reg. C
_ SUB A : clear accumulator
LOOP |INXH ; Address of next memory
_ CMP M ; compare with previous no is it greater ?
JNC AHEAD No ; No larger is in ACC go to AHEAD.
MOV A, M ; get larger no in acc
AHEAD | DCRC ; decrement counter
_ JNZ loop ; not over series ?
| go to loop.
STA 2450 H ; store the result at 2450 H
 END HLT ; stop processing.
67)  Trace the following program and write the purpose of the program : [{SIS{SaelN)
Ans. :
| Label [ Mnemonics+ operand Comments
| LXI H, 2500H ; Load HL pair by 2500 H |
_ MVI B, 01H : Load immediate register B by 01
7 MOV A, M : Take data from memory to accumulator
_ CMA ; Complement the accumulator contents
7 ADDB : Add 01 to accumulator
_ INXH ; Increment HL by |
_ MOV M, A | : Transfer content of accumulator to memory
| HLT ; Stop

Instruction Set and Programming of 8085
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Ans : The purpose of this program is to find 2's compliment of a number stored at 25(y) I

ang
:_.,.:::. atresult at 2501 H,

®9  Sixteen bytes of data are stored in memory locations at COS0H to COFiy. Tranyg,
the entire block of data to new memory location starting at CO70H., 5

Ans ; .
Label Mnemonics+ c.vn_.m:n_ ~ Comments |
START | LXI H, Co50H ; Set up HL as a pointer to source,
LXI D, Co70 H ; Set up DE as a pointer to destination,
MVI B, 10H ; Set up B to count 16 bytes.
NEXT | MOV AM ; get data byte from memory.
STAXD,M ; store data byte at destination,
INXH ; increment source pointer.
INX D. ; increment destination pointer _
DCR B ; decrement count
INZ NEXT ; if not zero, go back
amZU HLT ; Stop processing, 7

69) Write as assembly language program to copy a block of data having starting address
2000H to a new destination with starting address 3000H. Length of the block is

stored at 1FFFH. E

Ans:
H_um_ Mnemonics+ operand Comments
START | LDA 1FFF ; Copy block length into accumulator
. MOVH, A + Copy block length from accumulator to Reg H
LXI B, 2000 H + Initialise BC pair to starting address of source Eammo“m_.
LXI D, 3000 H ; Initalise DE pair to starting address of destinati
location
NEXT | LDAXB ; Copy number from source memory location to
accumulator
STAXD ; Copy number from accumulator to destination |

memory location
y locat

INX B ; Increment source memory pointer contents by one
INX D ; Increment destination memory pointer contents by one
DCR H ; Decrement counter by one to count number of transfers
JNZ Next ; Repeat steps if all data still remain to be copied.

END | HLT ; mglcv%:,cp.ﬁ.mmw.zm .
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7pS Computer Science - II

2-108 Instruction Set and Programming of 8085

70) A block of data is stored in memory starting from memory location Do01H. The

length of the block is stored at memory location D000OH. Write
language program to sort the contents of block in ascending order.

Ans. :
[ Label | Mnemonics+ operand Comais \1_
Start | MVIB, 00 H ; Initialise register B with data 00.

LXI H, D000 H ; Initialise H - L pair

MOVC,M ; Store the length of block in register C

INXH ; Increment H - L pair 1

MOV A,M ; Move contents of memory to accumulator

DCRC ; Decrement count

Up |INXH ; Increment H - L pair

CMPM ; Compare the contents of accumulator and first
memory location.

JCdn ; Jump to label dn
if contents of accumulator is less than that of memory
location.

MOV D,M ; Move contents of memory to register D

MOVM, A : Move contents of accumulator to memory location

DCXH ; Decrement HL register pair

MOV M, D : Move contents of register D to memory location

INXH ; Increment HL register pair

MVIB, 01 H ; Load immediate data 01H to register B

dn [DCRC ; Decrement the counter stored in register C

JNZ Up ; Go to label up, it the counter C has not reached zero

DCRB ; Decrement register B by unity

JZ Start ; Is zero ? Yes go to label start

HLT ; Stop processing _

71)  Write an assembly language program to exchange the two hexadecimal digits of a
number stored at memory location 2500H. Store the new numbe:

r at Emn.cm

location 2501H.
Ans:

Label | Opcode Operand Comments
LXIH 2500 H ; Initialise H - L pair memory address 2500H.
MOVAM ; Get the number in accumulator
RRC
RRC
RRC ; Rotate accumulator to right
RRC
INXH ; Increment H - L pair
MOV M A ; Store contents of accumulator to memory

END | HLT ; Stop processing

an ummmn_&_m
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72)

Ans:

73)

2-109 Instruction St and Programming of %

A block of data is stored in memory locations from CO80H. Length of block is storeq
at CO7FH. Write an assembly language program that searches for the first occurrenc,
of data byte ABH in the given block. Store the address of the occurrence in Hj,
register pair. If number is not found, then HL register pair must contain FFFFH.

(March.2005)

Label

Opcode Operand

Cq?_ljment_s__

START LDACO7FH

P

END

MOVC A
LXIH, Co80 H
MVIA ABH
CMPM

JZ end

INXH

DCRC
INZUP
LXIH, FFFFH
HLT

; Copy block length into accumulator

; Copy block length from accumulator to Reg C

; Load H - L pair with starting address

; Initialise search element (AB) in register A

; Compare number in memory to the number ABH
in accumulator

; Number in memory is AB ? Yes jump to end.

: Increment H - L pair

; Decrement contents of block length counter Reg C

; Repeat all steps until all locations are checked

; Load H - L pait with address FFFF H

; Stop processing

Write an assembly language program to perform the multiplication of two eight bit
numbers where multiplicand is stored at memory location 2501H and 2502H.
Multiplier is stored at 2503H. Result is to be stored at memory location 2504H and

(March. 2008

2505H.
Label Opcode Operand Comments
START LHLD2501H ; Get multiplicand in H- L pair
XCHG ; Multiplicand in D - E pair
LDA 2503 H ; Multiplier in accumulator
LXIH, 0000 H ; Initial value of produce equal to 0000 in H - L pair
MVIC, 08 H ; Count equal to 8 in register C
UP DAD H ; Shift partial product left by one bit
RAL ; Rotate multiplier left by one bit
JNCdn ;Is carry 7 No, jump to lable dn
DAD D ; Product = Product + Multiplicand
dn DCR C ; Decrement counter stored in register C
JNZ UP ; Jump, if no zero to Jabel up
SHLD 2504 H ; Store the result in 2504 and 2505 H
END ; Stop processing

HLT
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175 Computer Ew_n_ﬂ_!l_,_ — 2-110 Instruction Set and Programming U_f_ﬁniﬁ_

) Write a sub-routine to fill the memory locations 2800H to 28FFH with the
hexadecimal numbers 00H to FFH respectively. m

Y — o
" Label I 'Opcode Operand ’V Comments
rSTT_!{I?r LXIH, 2800 H ; Initialise H - I, pair with starting address
. MVI A, 00 H ; Load accumulator with data 00)
| MVI B, FF H ; Count in Register B
| UP || MOV M, A ; Copy the data 00H in memory location 2800H
.' INXH ; Increment H - L pair
| INRA ; Increment the contents of accmulator by one
DCR B ; Decrement counter
l' / JNZ UP ; Count = 0 ? No jump to label up
END ‘ HLT ; Stop processing B
75  Write an assembly language program to find how many times data BCH appears in
a memory block D050H to DO59H. Store the count in register C. m
Ans:
" Label J Opcode Operand Comments
| START | LXI H, D050H ; Initilize H-L pair to memory address DOSOH
.I MVI A, BCH ;Move immediate the data BCH
" | to accumulator
f MVI B, 0AH ; Initialise register B to store the Count.
| MVI C, 00H ; Initialise the register C to OOH.
X2 / CMPM ; Compare the Contents of memory location with the
| data present in accumulator
f JNZ X1 ‘ ; Jump to label X1 if it is not Zero.
r.' INRC | ; Increment the register C by 1
X1 | INXH ; Increment HL - pair by 1 '
' DCRB | ; Decrement register B by 1 |
| INZ X2 ' ; Is not Zero ? Jump to label X2.
IND | HLT || ; Stop processing

Write an assembly language program to find the largest number in a block of.dallta
starting from the address 3500H. Length of the block is stored at memory location

address 34FFH . Store the result at address 4500H . October 2008)

| Label 1’ Opcode Operand | Comments
| START | LXI H, 34FFH | nitialise I - pair with address MFFH
MOV (, M - block length in register C
'SUBA ; ; Initialise accumulator with OOH
L2 | INXH | Increment HL pair by |

https://tpspoint.com/
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TPS Computer Science - II 2-111 Instruction Set and Programming of 80gs
[ Label Opcode Operand Comments
CMPM ; Compare the next number with accumulator
JNCLI1 ; Number in accumulator greater?
Yes, jump to LI
MOV A, M ;No, Bring the greater number in accumulator
LI DCRC ; Decrement Count
JNZ L2 :Count = 0 ? No jump to label L2
STA 4500 H :Store largest at location 4500 Hq
END | HLT ; Stop processing

77)

Ans:

78)

Ans:

|

Write an assembly language program t
3500H and 3501H. Place the BCD resu

o add two BCD numbers stored at locations
It in location 3502H and onward with LSB

first.
| Label | Opcode Operand Comments
START | LXI H, 3500H . Initialise HL pair to memory address 3500 H
MVI B, OOH ; Initialise register to store MSB of sum
MOV A, M ; Move first number in accumulator
INX H : Get address of next number
ADDM : Add next number to accumulator
DAA ; Decimal adjust accumulator
JNCL1 ; Is Carry ? No, jump to label L1
INR B ; Increment register B
L1 INXH ; Increment HL pair by 1
MOVM, A ; Store LSB of Sum in memory
MOV A,B . ; Move MSB of Sum in accumulator
INX H ; Increment HL pair by 1
MOV M, A ; Store MSB of Sum in memory
END | HLT ; Stop processing

Write an assembly language program to subtract the number stored in memory

location 3601H from the number stored in memory location

3600H. Store ositiv
(March 2002, Oct.2008

—

result at location 3602H.
[ Label Opcode Operand Comments

START LXI, H, 3600 H ; Initialise HL pair to memory address 3600H
MOV A M ; Move memory Content to accumulator
INXH ; Increment HL pair by 1
SUBM ; Subtract memory Content from accumulator
JpP LOOP ; If result is positive jump to LOOP
CMA ; Complement the contents of accmulator

https://tpspoint.com/
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2112

pPerand

Comments

—

; Take 2's complement by adding 1.
b

i

Increment HL pair by 1

; Store the result in memory location

1:ﬂmmnggfimx “‘Commedence-ﬂ

___-—-—-—_'_-___“—-—-.\\-' -
’-._._—._.___-_-___-___-_‘_‘-‘—‘H-\ I|

nments Label
e |

umber with accumulate, ADI 01
oo grEmtes? LOOP | INXH

i | MOV M, A
.- pumber In acCumulatoy .
END | HLT

p tolabel 12 ‘ "9\
stion 4500 Hg \

-——-_-_-____—_-___-_'_-'-—-—.___\_ -
) numbers stored at location, Ans

3302H and onward with 153

; Stop processing ll

Instruction Set and Programming of 8085

—_—
Opcode O

Write an assembly language program to divide a byte stored at location 2050H by a

non zero byte stored at location 2051H. Place the quotient at memory location 2052H
and the remainder at location 2053H,

(October 2008)

| Oct 200

START | MVIC, OOH

Comments

\.l me Operand \
‘\

| ; Intitialise Contents of register C to Zero

; Load the HL pair with the address of the dividend
; Copy dividend from memory to accumulator

; Make HL pair point at the address of the divisor

; Compare the divisor to the accumulator Contents

; If the divisor is smaller than the accumulator contents,
then jump to NEXT to copy results to memory

; Increment Contents of register C by unity

; Subject the divisor from accumulator Contents

; Unconditionally jump to LOOP to Continue process

; Increment HL Contents by Unity to point at 2052H

; Copy quotient from register C to memory location 2052 H.
; Increment HL contents by Unity to point of 2053 H.

; Copy remainder from accumulator to memory to
memory 2053 H.

; Stop processing

|
Write an assembly language program to transfer a block of data stored in memory
location from D100H to D1FFH in reverse order in new memory locatio
D200H.

n starti_nﬁ at

Comments

| LXIH, 2050H
e - | MOV A, M
nemory address 3500 H -. i
tore MSB of sum . INX
n accumulator woop | CMPM
number | JCNEXT
o accumulator
smulator INRC
> to label T ' SUBM
B TMP LOOP
byl NEXT | INXH
in memory |
1 in accumulator ' | MOVM, C
13 b\ 1 INXH
L in memory | MOVM, A
act the number stored in memon END _|HLT
nory location 3600H. Store positive 80)
Comments Am\\
2ir to memory address 3600H Label ' Opcode Operand ]I
‘Content to accumulator START | Lx1 H, D1IFFH
pairby 1 ' |
o7 Content from accumulator | LXI B, D200H
Sitive jump to LOOP
*1he contents of accmulator —___|MovD,L

M |

; Intialise HL pair with address for last location of Source
block

destination block

; Initialise BC pair with address for first location of |

; Get the count in Register D.
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TPS Computer Science - II

2-113 Instruction Set and Programming of 8085
- - __-________‘__-_-_ )
Label | Mnimonics/Operands Comments/Remarks ]
I
Ml MOV A, M ; Get the number of accumulator T
STAX B ; Store the number of address pointed to by B-C pair
DCXH ; Decrement HL pair '
INX B ; Increment B-C pair ‘
DCRD ; Decrement Count
JNZ M1 ; Is Count Zero? No, jump to label MI ‘
| END HLT ; Stop processing !

81) Write an assembly language program to exchange 8 bit number stored in memo

location 4000 H. Store new number at memory location 4001 H.
Ans:
Label Mnimonics/Operands Comments/Remarks !
LXI H,4000H ; Load the HL pair at 4000 ]
MVIC, 08 H ; Set counter for 8 bit
MOV A, M ; Take number in acc ,
ur RRC ; Rotate the contents of accumulator |
‘ DCR C ; Decrement count
| JNZUP ; Is not zero ? go to up
STA 4001 H ; Store result :
HLT ; Stop processing Jl

82) Write assembly language program to find sum of all the numbers stored in a
memory block. Block starts from 2CO5H and length of the block is at 2CO4H Store

the sum at 2CO3H.
Ans
| Label Mnimonics/Operands Comments/Remarks
START | LXIH, 2C04H ; HL pair points to length
MOV C,M ; length moves to Register C
SUB A ; Initialize sum =0
UP INX H ; Increment pointer by 1
ADDM ; Add accumulator with content
DCR C Decrement length by 1
JNZ UP ; 18 not zero, repeat
STA 2C03H ; Store sum to 2CO3H
HLT ; Stop
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2-114 Instruction Set and Programming of fﬂfﬁ

wnte assembly language program to divide all the numbers of a block by 2. Block

3 < from 4000H to 4009 H.
AnL = J Mmmomcsf()perands 1 o _E‘E'P_“Te‘;@ﬁem arks -
TART LXI H, 4000 H Imtlahze HL pair by 4000 as a pomter to block
l MVIC, 0AH ; Set Counter Register by OA
ur MOV AM ' ; Move the byte from memory to accumulator
' RRC ; Divide accumulator by 2
MOV M, A ; MOV the result from accumulator to memory
| ; DCR C Decrement counter by 1
' INZUP ; is not zero, repeat
_LHLT ; stop B -

54', R Wnte assembly language program to count number of one (1) in 8 blt number which

is stored at 208 BH.

Ans : ] o
m Mnimonics/Operands Comments/Remarks ]
"START | LDA 208BH ; Load accumulator by operand

| MVIC, 08H ; Initialize counter C by 08H
| MVIE, 00H : Initialize counter E by 00H
ur ! RRC ; Check for one

! JNC SKIP ; Is digit is zero, SKIP does not increment count
INR E ; Is digit I increment count

SKIP ]I DCR C ; Decrement counter C by 1
| INZUP ; is not zero, repeat
| HLT ; Stop.

— |

) Write assembly language program to fill memory block from 2000H to 2009 H with

data BBH and 44H alternately. Oct.2009)
Ans :
Label Mnimonics/Operands Comments/Remarks
START | LXI H, 2000H |, Set HL pair at starting address
MOV C, OAH '; ; Register C as counter
MVI1 A, BBH | ; Copy BBH to Accumulator
Up MOV M, A ; Copy [A] to Memory Location
CMA ; Complement Accumulator to get 4k
INX H ; get next address
[DCR ¢ , Decrement counter by one
INZ, UP 1s counter 1s zero” No Go {UP)

HIT

YOS StOP Processing
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TPS Computer Science - I

Instruction Set and Programming of 8085

—_—

2-115

Write assembly language program to find smallest number in a memory block.

86)
-Block.starts from 2600H . Length of the block is at 25FFH. Store the smallest number
in register E.
Ans:
Label Mnimonics/Operands Comments/Remarks
START | LXI H, 25FFH ; Store the length
MOV C,M ; in Register C
INXH ; Get starting address
DCRC
MOV A, M ; Copy first number in accumulator
MVIE, 00 ; Register E =00
UP |INXH - Go to next number address
CMPM ; Compare two numbers
JCDN ; is number in accumulate is smaller?
Yes then Jump to (DN)
MOV A,M ; No copy smaller number to accumulator
' DN |DCRC ; Decrement C by one
’ JNZ UP ; Jump to (UP) until C becomes zero
| MOVE A ; Store the result in Register E
‘ 7HLT ; Stop
87) Write assembly language program to arrange two numbers stored at 1201 H and
1202 H in descending order. (October 2009
Ans:
I Label Mnimonics/Operands Comments/Remarks
| START | LXIH, 1201H ; Copy number stored at
MOV B,M ; 1201 to Register B
[ INXH ; HL pair pointing at 1202 H
’ MOV A, M ; Copy number at 1202H to Accumulator
CMP B ; Compare two numbers
JCEND ; are they in order? Yes jump to (END)
MOV M, B ; Contents of 1201 are at 1202H
DCX H ; HL pair at 1201H
MOV M, A ; Contents of 1202 are at 1201
END | HLT : Stop
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7S Computer Science - Il 2-116 Instruction Set and Programming of 8085

s fai

gg)  Write a program in assembly language to find greatest number among a contents of
block of memory which starts from D001H, the lengthe of block is stored at DOOOH.
Store the greatest number at the end of block.

Ans:
El Mnemonics E Comments
START | LXI, DOOOH ' ; Load HL with DO0OH |
| MOV C,M ; Move (M) to Reg. C |
| DCRC ; Decrement C by 1 |
UP | MOVA,M ; Move (M) to ACC |
, INXH ; Increment HL by 1 :
i CMP M ; Compare (M) with ACC
| INC DOWN ; Jump if No Carry to DCR C
| ‘| MOV A, M | ; Move (M) to ACC
DOWN | DCRC | ; Decrement C by 1
| INZUP ; Jump if No Zero to MOV A, M
| INXH ; Increment HL by 1
MOV M, A ; Move [A] to memory
| | HLT Stop ; Stop

£9) Write a program in assembly language to sum the series. Stored from D001, length
of series is at DOOOH. Store result from D100H. m

Ans :
Label Mnemonics l Comments
START LXIH,DO0OH | ;Load HL with DOOOH
 MOVC,M ! ; Move (M) to Reg. C
' MVI A, 00H ' ; Move 00 to ACC
' MVIB, 00H i ; Move 00 to Reg. B
L2 INX H ' ; Increment HL
ADDM ; Add (M) to ACC
JNCL1 ?;JumpifNoCanytoLl 1
INRB ; Increment B {
L1 DCRC ; Decrement C I
INZ 12 - ; Jump if No Zero to L2 '
LXI H D100OH ; Move D 100 to HL.
MOV M, A ; Store LSBs of sum to D100H
INX H ; Increment HI
MOV M, B  Store MS Bs
HL1 ; Stop
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TPS Computer Science - II Instruction Set and Programming B4
- 3

90) Write a program in assembly language to substract contents of memory locag;,
D001H from the contents of memory location DOOH. Store absolute differenc,
DO02H. .

Ans:

Label Mnemonics Comments __ﬁ
LXIH, D001 H - Load HL with the DOOOH
MOV A, M : Move (M) to ACC
INXH ; Increment HL by 1
SUBM ; Substract (M) from (A)
JNCL1 ; Jump if No carry to L1
CMA ; Compliment ACC
INR A : Increment ACC
L1 INX H : Increment HL by 1
MOV M : Move [A] to Memory
HLT ; Stop
91) Give appropriate comments to the following program : m
Label Mnemonics Comments
STC
CMC
MVI A,08H
LXI H, D001H
LOOP MOVM, A
INXH
DCRC
JNZ LOOP
HLT
Ans :
Label Mnemonics Comments
STC ; Set Carry
CMC ; Complimentary Carry
MVI A, 08H ; Move immediate 08 to ACC
MVIC, 0AH ; Move immediate 0AH to C register
LXI H, D001H ; Load with DoolH
LOOP | MOVM, A ; Move [ACC] to Memory
INXH ; Increment HL by 1
DCRC ; Decrement C by 1
JNZ LOOP ; Jump if No Zero to Loop
HLT ; Stop |

https://tpspoint.com/


https://tpspoint.com/tps-computer-science-12th-pdf-kinnari-prakashan-tps/

5 Computer Science - I

92)

Ans:

93)

2-118

Instruction Set and Programming of 8085

There is block of memory stored from D001H, the length of block is stored at
memory location DODOH. Wnte a Program in assemb]y language to Chek, whether

contents of these of these blocks are in sequence (consecutive) or not.
If contents of blocks are in se

should contain 00H, else FFH.
@ Mnemonics Comments
| LXT H, DO00H ; Load HL with DO00OH
* MOV C, M ; Move [M] to C
I DCRC ; Decrement C
' INXH ; Increment HL by 1
L2 MOV A, M ; Move [M] to ACC
; INR A ; Increment ACC
] INX H ; Increment HL by 1
| CMP M ; Compare [A] with memory
! JNZ L1 ; Jump if No Zero to L1
| DCRC ; Decrement C
JNZ L2 ; Jump if No Zero to L2
LXI H D100H ; Load HL with D100H
' MVI M, 00H ; Move 00 to Memory
' JMP L3 ;JumptoL3
L1 LXI H, DOOH ; Load HL with D100
MVI M, FFH ; Move FF to Memory
L3 HLT ; Stop

quence (consecutive) then memory location D100H

Trace the following program and show contents of the following by. filline blanks :

Lable Mnemonics
MVI A, 05H
LXI H, D0O01H
MVIC, 05H

LOOP MOVM, A
DCR A
INXH
DCR C
JNZ LOOP
HLT

(D005] =

[A] =

[C] =

Reg H =

Reg. L =

(Mar. 2010)
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TPS Computer Science - II 2-119 Instruction Set and Programming of 805

Ans: Trace program and show contents of the following by filling the blanks : -
[DO05] = 01H :
[A] = 00H
[C] = 00H
Reg. H = DOH
Reg. L = 06H
94) A series of numbers are stored in memory locations from C001H to CO008H. Write 5
program in assembly language to find largest number among these numbers. Store
largest number in memory location CO09H.
Ans :
Label W Mnemonics Comments
LXI H C001H ; Set HL Pair to CO01H
MVIA00H ; Largest = 00 H
MVIC 08 H ; Set count = 08H
LOOP | CMPM ; Compare with previous no. Is it greater ?
JNC AHEAD ; No. large in Acc. go to AHEAD
MOV AM ; Get large in Acc.
AHEAD | INXH ; Increment HL pair
DCRC ; Decrement count
JNZ LOOP ; Repeat if count [ 0
MOVM A ; Store large in CO09H
HLT ; Stop

95) Write an assembly language program to count number of times the data A4H is
found in a block of memory locations starting from 4000H. Length of block is stored

in location 3FFFH. Store result in -location 5000H.
Ans:
Label Mnemonics Comments
LXI H, 3FFFH ; Load HL pair with 2FFFH
MOV C,M ; Get count in C reg.
LOOP | INXH ; Increment HL Pair
MOV A, M ; Get no. in Acc.
CPI A4H ; Check A4 with Acc.
JNZ NEXT ; if number not found, then jump to NEXT
INR B ; Store count in B !
N i isliiisl O
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2-120

T abel Mnemonics Comments
DCRC ; Decrement count
JNZ LOOP ; Repeat loop if count # 0
MOV A, B ; Store count in Acc.
STA 5000 H ; Store result At 4000H
L_H_Ijl ; Stop

P
Write an assembly language program to fill memory locations 3000H to 30FFH with
the hexadecimal numbers 00H to FFH respectively.

— ] - —
Label | . Mnemonics Comments
LXI H, 3000H ; Initialize HL pair with starting address
MVI A, 00H L A=0
MVI B, FFH ; Count in reg. B
UuP | MOVM A ; Copy data 00H in 3000H

INXH ; Increment HL pair
INR A ; Inerement content in A by 1.
DCR A ; Decrement count
JNZ UP ; Jump to label up if count is not zero
HLT ; Stop |

Write an assembly language program to copy a block of data having starting
address 7900H to the new location 9100H. The length of block is sto

location 78FFH.

Label Mnemonics Comments
LXI H, 78FFH ; Load HL pair with 78FFH
LXI D, 9100H ; Starting address of destination
MOV C M ; Move count in Reg. C
INXH ; Increment HL Pair

LOOP | MOV A, M : Transfer memory to Acc.
STAXD : Store Acc. to new location
INXH : Increment HL Pair
INXD : Increment DE Pair
DCRC ; Decrement count
INZ LOOP ; Jump to loop if count is not zero

L. | HLT ; Stop

Instruction Set and Programming of 8085

(October 2010)

A block of data is stored in memory locations from D001 H The length of block is
Stored in memory location DO0OH. Write a program in assembly language that
searches for first occurrence of data 11 H in given block. Store address of this
OCcurrence in H-L pair. If the number is not found, then H-L. pair should contain

0000H.

(October 2010)
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Ans:
|
| Label ‘ Mnemonics I Comments |
T — |
| | LXI H, DO0OH ; Load HL pair with DO00H
| | MOV C,M ; Move count in Reg. C
| | MVIA, 11H ; Set Acc. = 11H
. LOOP | INXH : Increment HL Pair
| CMPM ; Compare memory and Acc.
| .
' JZESCAPE  If memory location in block =11, then jump
. li DCRC : Decrement count
| | INZ LOOP ; Repeat if count # 0
| | LXI H, 0000H - Set HL pair to 0000H if number found
| ESCAPE | HLT ; Stop N
99) A Hex number is stored at location C000H. Write an assembly language program
interchange its digit. The new number is to be stored at CO01H. Add origin;
number with new number and store result at location C010H.
Ans:
. Label | Mnemonics ° Comments
| LXIH,C000H | ;Load HL pair with CO00H
MOV A, M ; Move number in Acc. !
RRC ;  Rotate right one bit four times |
i RRC for nibble exchange
| RRC i
‘ RRC
| STA C001H ; Store no. in C001 H |
| ADDM ; Add original number with exchange
| ' STA CO010H ; Store result in CO10H
. |HLT  |iStp B
100) Write an Assembly Language Program to separate nibbles of a number stored :
memory location 2000H. Multiply separated nibbles and store result.
Ans:

[ '_—Label_ _l Mnemonics B Comments _1|

— | LXIH,2000H | ;set HL = 2000H B

‘ MOV A,M ; move memory to A

| | MOVB M ; move memory to B

‘ : | ANI OFH ; get lower nibble |
| MOVC, A ; store it in C ‘

’ B | ‘ MOVA,B |getBto A |
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rep

_ l'y_!nem_onics
ANI FOH
RRC
RRC
RRC
RRC
MOVD, A
MVI A, 00H
ADDD
DCRC
INZ rep
STA 4000H
| HLT

2-122 Inﬂmutmn Set and ngmmmmg of a{)ﬂ%

_ Camments

; get higher nibble

; Rotate A to right without Carry

;Store it in D

; clear A

;add Aand D

; decrement C

: jump, if no zero to rep.
; store A at 4000H

qtop program

101) Writ e program in Assembly Language. to transfer a block of data from 1050 to
1059 to memory location whose starting address is 1070H.

Ans:

P — 1

 Label

rep

I

Mn_e_rpomcs Comnients B
"MVIH,0AH | ;setH=0AH
; LXIB,1050H | ;set BC = 1050 H
' LXID, 1070H | ;set DE= 1070H
' LDAX B : ; get 1050H contents
| STAXD ' ; store at 1070 H
INX B " increment BC
INXD ; increment DE
DCRH ' ; decrement H 1
INZ rep ' ;jump, if no zero to rep
HLT | ; stop program

102)  Write an Aésem_bly Language Program to couth_number of even data bytes
occurring in a block starting from memory location CO30H to CO39H.

Store result at the memory location C040H.

Ans: _
Label

rep

Mnemonics

CLXI H, 2000H

MVIC, OUH
MVI B, OAH

I x] H, CO30H
MOV A M
RE(

JO next
INK ¢

Comments

Sset HL = 2000

Cclear O reg
, set B UAH

set Hi CU3OH

s et M to A

rotate A to nght
jump, it carry to next

mncrement
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Label Mnemonics Comments
next : INX H ; increment HL
DCRB : decrement B
JNZ rep ; jump, if no zero to rep.
MOV A, C ;getCto A
STA C040H . store A at C040 H
\ HLT ; stop program

103) Write an Assembly Language Program to exchange position of digit of numbe
stored at CO40H. Multiply original number with the exchanged number, the resy|
to be stored at memory location starting from C041H onwar ds.

Ans:
]l Label Mnemonics Comments N
\ MVIC, 00H ; clear C register
\ LXIH,CM40H | ;HL=C040H
MOV A, M ;getMto A
MOV B,M ;getMtoB
RRC ) ; rotate A
RRC ; toright
RRC ( ; without carry
RRC )|/
MOV D,A ; getAtoD
MVI A, 00H ;clear A
rep ADDD ;add Aand D
JNC next ; jump, if no carry to next
INRC ; increment C
next DCR B ; decrement B
JNZ rep ; jump, if no zero to rep.
INXH ; increment HL
MOV M, A ;getAtoM
INX H ;increment’HL
MOV M,C ;getCtoM
| HLT ; stop program
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2-124 Instruction Set and Programming of 8085

104)  Write an Assembly Language program to add two 16 bit numbers. The numbers are
stored at memory location C030H and C031H, and the second number stored at
C032H and CO033H. Store result at memory location C034H and C035H. Store final
carry at CO36H.

Ans. : -

Label Mne_tx;@iés._ T ‘Comments o
| MVIAOH | dearA
| LHLD C030H ; load HL directly ,
! XCHG ; exchange HL and DE |
! 'LHLDCO032H | ;load HL directly |
5  DADD | ;double add HLand DE |
! | INC next ; jump, if no carry to next

INR A | ; increment A I
next SHLD C034H | ; store HL directly |
| STA CO36H | ; store A at C036H
‘ | HLT ; stop program
105)  Write a program in assembly language to find the position of a data 05H in a block

of memory D001H to DOO5H. If data is found then store the position of data at

memory location D100H else store 00H at the same memory location.
(Note : It is assumed that data 05 may present only at once.)

Label I Mnemonics

Comments

SERel SRR

' MVIA,05H
MVIC,05H |
MVID,01H |
LXI H, DO01H

CMPM

JZ NEXT
INX H

INR D
DCR C

JNZ UP

X1 H, D100H
MVI M, 00H
IMP L1
LXIH, D100 H
MOV M, D
PIE

UpP

NEXI

. Load HL with DOO1H

| ; compare memory content with Acc.

; more immediate data 05H to Acc.
; move immediate data 05H to Reg. C

; move immediate data 01H to reg. D

; jump if zero to label NEXT !

; increment HL pair

; increment DE pair

; Decrement C reg.

sjump if No zero to label UP

S load HE wath DTOOH

Smove U0 to memory location DIVOH
jump to halt

doad HE with D 1OO H
muove contents i B o D100 H

‘.,[‘ISJ
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106)  Write a program is assembly language to double the contents of block of mem,,
from DOO1H to DOOAH. Store the doubled contents at same memory locations,

(Note : It is assumed that contents are not exceeding OFH.) m
]

Ans,:

{ Label ! Mﬁ_emo_nics_ Comments
'LOOP | MVI C,0AH | ;move count OA toreg.C

! LXI H, D001 H | ; Load HL with D001 H

| | MOV A M : move no. in block to Acc.

- RAL : Rotate accumulator left .,. ..

|_ ' MOVM, A ; Move Acc. content to memory

I INXH ; increment HL pair 11-'

;; DCRC : Decrement count

‘ JNZ LOOP ; jump to label LOOP for next no
| HLT ; stop

107)  Write a program to exchange the two nibbles, stored at 2500H. Store the exchanged
it at number at 2501H. m

Label | Mnemonics Comments

LXI H, 2500 H | ; Load HL with 2500 H
MOV A, M ; Get no. in 2500 H to Acc.
RRC j
RRC ; Rotate 4 times to exchange nibble
RRC
RRC

| INXH ; increment HL pair to point 2501 H

' MOV M, A ; move Acc. contents to 2501 H

| HLT | ; stop

108)  Write a assembly language program to copy the contents of a block of memon
which is from 2501H to 2505H, to another block begins from 3501H.

Ans. : - o

T T T L a————
LOOP | MVIC,05H ' ; Load block count 05H in C reg. \
| LXI H, 2501 H | ; Load HL with 2501 H

CLXID, 3501 H | ; Load DE with 3501 H

. MOV A, M ; Move no. pointed by HL to Acc. i
STAX D ; Store Acc. to memory pointed by DE.
INX H ; increment HL pair ‘

| INX D ; increment DE pair i
DCR C ; Decrement block count i
JNZ LOOP | ;jump to exchange next no 5

‘ HL'T |, stop |
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[ps Computer Sdence - I 2-126 Instruction Set and Programmin
109) There are two blocks of memory, one is from 2,501H to 2505H. Another is from
3501H to 3505H. Write a program in assembly language to check weather, contents
of these two blocks are exactly same or not.
If contents are same then memory location D100H should contain OOH else FFH.
Ans-: I
' Label | Mnemonics Comments
R
L2 MVIC, 05 H ; Load block count 05 H in C reg.
LXIH, 2501 H | ; Load HL with 2501 H
LXID, 3501 H | ; Load DE with 3501 H
LDAXD ; Load Acc. by memory pointed by DE
CMPM ; Compare-data pointed by HL pair with Acc.
JNZ L1 ; jump if no. is not same to label L1
INX H ; increment HL pair
INN D ; increment DE pair
DCRC ; Decrement count
JNZ L2 ; if count is not zero then jump to L2
LXIH, D100 H | ; Load HL with D100 H
MVIM, 00H | ;Load OOH in memory D100 H
L1 DAP L3 ; jump to stop
LXIH, D100 H | ; Load HL with D100 H
MVI M, FFH : store FFH in memory D100 H
HLT ; stop
110) Write a program in assembly language to rotate the content of memory location
D000H toward left by one bit position and add original contents with rotated
number and store the result from DOO1H. (Oct. 2011)
Ans. :
Label | Mnemonics Comments
LOOP | MVIC,00 H ; Clear C reg. To store MSB
LXI H, D000 H | ; Load HL with DOOOH
MOV A, M ; move no. in Acc,
MOV B, A ; move no. in Acc. to B reg.
RAL ; Rotate accumulator left through carry
ADD B ; Add Acc. i.e. rotated no. with B reg.
B JNC LOOP ; jump if no carry to LOOP B
111)  An 8 it number is stored in memory location 4400H. Write a-nr;;;:mbly language

program to count 'Zero' in the given. number. Store count in memory location
4500, (Narch 201
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Ans.:
Label | Mnemonics | Comments
MVIC,08H | ;Get rotational count in Reg. C
MVIB, 00 H ; Initialize Reg. B rare
LXIH, 4400 H | ; Load HL with 4400 H
MOV A, M ; take no. in Accumulator
Up RRC : Rotate Acc. right by 1 bits:
JC Down ; is carsy? Yes then jump to label Down
INR B ; Count no. of zero in Reg. B .._
Down | DCRC ; Decrement test count
JNZ UP . is zero? No then jump to label UP
MOV A, B : Get count in Acc.
STA 4500 - Store zero count in 4500 H
HLT ; stop
112) A series of numbers are stored in memory locations from C001H to C008 H. Write ;
program in assembly language to find smallest number among these number,
Store smallest number in memory location CO09H.
Ans.:
Finding of smallest Number )
Label | Mnemonics Comments
LOOP | LXIH, CO01 H | ; Set HL to C001 H
MVIA,FFH | ;smallest=FFH = Acc.
MVIC,08H ;setcount=08 H
CMPM ; Compare, is smallest
JC AHEAD ; if smallest in A then jump to label AHEAD |
MOV A, M ; Get smaller no. in A reg.
INXH ; increment HL pair
r, DCR C ; Decrement count
; JNZ LOOP ; Repeat if count # 0
MOV M, A ; store smallest no. in C009 H
HLT | ;stop |

113) ?Vrite an assembl.y language program to counter number of odd data byte occurr
in a block starting from memory location AOO1H to AOFFH. Store result !

(March 20

memory location BOOOH,
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pns: Count No. of odd data in a block -
_Eaib_d Mnemonics Comments __l
MVIH, A001 H | ; Load HL with A001 H
MVIC, FFH ; store count FF in reg. C
MVI B, 00 H ; set B =0 for count
LOOP |INXH ; increment HL pair 'll.
MOV A M ; ove no. in Acc.
RRC ; Rotate right to check odd
JNC AHEAD | ;if no carry i.e. if no. is even then jump td label
INR B AHEAD
AHEAD | DCRC ; if carry, increment count
JNZ LOOP ; Decrement test count ,,
MOV A,B | ;ifcount#0 then jump to label LOOP
STA BO0OH ; store count in Acc.
HLT ; store result in BOOOH
; stop
114) Hex number is stored at location ABOOH. Write an assembly language program to
interchange its digit. The new number is to be stored at ABO1H. Add original
number with new number and store result at location ABCDH. m
Ans.. Interchange given no. and add with previous no.
Label | Mnemonics Comments l
LXIH, A1300 H | ; Load HL with ABOO H i.e. given no.
MOV A M ; Get given no. in Acc.
RRC
RRC ; Rotate 4 times to exchange nibbles of given no.
RRC
RRC
INXH ; Increment HL pair to point ABO1 H
MOV M, A ; Store exchanged no. in AB01 H
DCXH ; Decrement HL pair to point ABO0 H
ADDM ; Add exchanged and previous no.
STA ABCD ; Store result in ABCD
HLT ; Stop
115  Write an assembly language program to add t;vo BCD numbers stored at locations.

ABOOH and AB01H. Place BCD result in location ABO2H and onwards starting with

Lss, i 2012)
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Ans.: Add two BCD number .

Label | Mnemonics Comments
LXTH, ABOO H | ; Load HL with AB00 H
MVIB, 00 H ; Store MSB of sum in reg. B
MOV A,M ; Move no. in Acc.
INXH ; increment HL pair
ADDM . Add no. in AB0O H with AB01 H
DAA ; Decimal adjust accumulator
JNC GO : is carry ? no then jump to label GO

. | INRB ; Incremént reg. B

GO STA AB02H ; Store LSB of sum in location AB02 H
MOV A, B : Get MSB in accumulator
STA ABO3 H ; Store MSB of sum in location ABO3 H

| | HLT ; Stop

116)  Write a program in assembly language to find 2's Complement of 8 bit number
stored in memory location CO00H. Store result at memory location. CO01H.

(March 2012)

Ans.: 2's complement of 8 bit number

Label | Mnemonics Comments
LXI H, CO00H | ; Load HL with C000 H
MOV A, M ;Get no. in Acc.

CMA ; Complement given number

INR A ; increment A reg. By 1 to get 2's complement
INX H ; increment HL pair

MOVM, A | ; place resultin C001 H

HLT ; stop

117)  Write an Assembly Language Program to multiply the given BCD data at locatior
C050H and CO51F1. Store the result in C060H and C061H respectively.  {(SI8pAU¥

Ans.:
Label M;l;m(mics } ”C_omments ) :
MVIAOOH | ;clear Accumulator
MVIC, {iﬂH _ ;clearcre;g
LXIH, COS0H |  intialize HL with COS0FH
B - _{y!(i\{"_B, N_[_ _ ;_E;et data from m to B
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118)

Ans, :

Instruction Set and Programming of 8085

2-130

Label

Mnemonics Comments

INX'H ; increment HL by 1

UP

ADDM ; Add m with A

DAA

; Decimal adjust Accumulator

JNC Next ; Jump if no carry to next

INRC ; increment C reg

Next

DCRB ; Decrement B reg

JNZ UP ; jump if no zero to up

LIX A, CO60H | ; Initialize HL pair

MOVM, A
INXH

; Get data from A tom
; Increment HL by 1

MOVM, C
HLT

; Get data from c tom

; stop

Write a program in assembly language that converts a BCD number stored at CO30H

to its Hexadecimal Equivalent. Store the hexadecimal result in C031H.

Label

Mnemonics

Comment -

LXIH, C030 H

; Initialize HL pair with co30 H

MOV A, M

; Get data from M to A

MOV BM

; Get data from M to B

ANIOF H

; Logical AND with Accumulator

MOV C, A

; Getdatain C

MOV A, B

; Get data from B to A

ANIFOH

; Logical AND with Accumulator

~

e e s

- Get data from A to D

; clear Acc

:set E =0AH

<A Dk

; Decrement E

> ; Rotate Accumulator four times right

e

(Oct. 2012)
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 Label Mnemonics_ Com;ér{f—_ _ ]

| R » I R —
___/Njur ; Jump if no zero to up.

| ADDC  ;Addcwith A

. EX___ _; Increment HL A to M _

| 'HLT ' ; stop

119)  Write an Assembly Language Program that multiplies the original number, Storeg
at C030H with its lower nibble. Store the result starting from C031 H onwards,

Ans. :
- Label Mnemonics ' Comment
IL MVIC,00H | ;ClearCreg
| J LXI H, C030 H | ; Initialize HL with c030H
| MOVA,M | ;GetdatafromMto A
| MOVB,M | ;GetdatafrommtoB
' | ANIOFH ; Logical AND ACC
MOVD,A | ;Getdatafrom A to D
i MVI A, 00H ; Clear ACC
GO | ADDB ; Add B with A
| JNC next ; jump if no carry to next
INRC ; Increment C reg
‘Next | DCRD ; Decrement D reg
INZGO ; Jump if no zero to go
' INXH ; increment HL by 1
MOV M, A ' ; Get data from A to M
L ‘ INXH ; Increment HL by 1
MOV M, C ; Get data from C to M
EF THLT | ; stop

120)  Write assembly language program to count number of even data bytes occurring i
a block stored from memory location C0511-1 and onwards. The length of block |
stored in location CO50H. Store result in location. C060H.

Ans. :

Label Instruction ' Comments

(START | LXIH,COS0H | ; Initialize HL pointer to COS0 H
i ' MOVC,M | Getlength of block in reg C

|  MVIB,0OH | Initialize reg. B to store count
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e

Label Instruction Comments _
EE—
INX H ; Increment HL pair by 1 |
_UP MOV A, M ; Get the number in accumulator
- RRC ; Check even number
JC DOWN ; Jump on carry to label DOWN |
INR B ; No carry increment count
DOWN | INXH ; Increment HL pair by 1
DCRC ; Decrement C by 1 ]
JNZ UP ; Is zero ? No jump to label UP |
MOV A, B ; Store count in register A B
STA C060H ; store result in CO60H
END HLT ; stop

121) Write an assembly language program to perform multiplication of two 8-bit
numbers where multiplicand is stored at the memory locations C051H and C052H

and multiple is stored at C053H. The result is to be stored at memory location
address C054H to CO55H. m

(Note : 8-bit multiplicand is extend to 16-bit)

Ans.:
Label | Instruction Comments ' _;
START | LHLD C051H | ; Get multiplicand in HL pair B
B XCHG - multiplicand in DE pair

LDA C053H ; Multiplier in accumulator
LXI H, 0000 H | ; Initial value of product = 0000H

MVIC,08H | ; count equal to 08 in reg. C
BACK | DADH ; shift partial product left by one bit ]
RAL : Rotate multiplier left by 1 bit, Is multiplier bit=1
JNC GO ; No jump to. label GO
DADD ; Product = product + multiplicand
GO DCR C : Decrement count |
JNZ BACK ; jump if no zero to label BACK |
1

SHLD C054H | ; store result at C054H

END HLT ; STOP

122)  Write assembly language program to count occurrence of the data. ABH in a
memory block starting from 4000H to 400FH. Store count at memory location 4500H
(March 2013)

https://tpspoint.com/


https://tpspoint.com/tps-computer-science-12th-pdf-kinnari-prakashan-tps/

TPS Computer Science - II 2-133 Instruction Set and Programming . B0
Ans. : :
Label | Instruction Comments
START | MVIC 00H ; Initialize reg C with 00H
| MVI A, ABH | ; Get data ABH in accumulator
LXI H, 4000 H | ; Initialize HL pointer to 4000H
MOV B, 10 H | ; Get count in register B
LOOP | CMPM ; Compare no in M with ACC
JNZ NEXT : Is zero ? No jump to label NEXT
INRC ; Increment count C by 1
NEXT | INXH ; Increment HL pair by 1
DCR B ; Decrement count
JNZ LOOP ; Is zero ? No jump to label LOOP
MOV A, C ; Yes move count to A
STA 4500H ;Store count in 4500H
'END | HLT ;stop
123) A block of data is stored in memory locations from 7500 H to 75FFH, Write an
assembly language program to transfer block in reverse order to memory location
7600H and onwards. m
Ans.:
Label | Instruction Comments
START | LXIH, 75 FFH | ; Initialize HL with 75 FF H
LXI B, 7600H | ; Initialize BC with destination address
MOVD,L ; Get count FF H in reg. C
BACK [ MOVA M ; Get number in accumulator
STAX B ; Store no. at address pointed by BC
DCXH ; Decrement HL
INX B ; Increment BC
DCR D ; Decrement count
B JNZ BACK ; Is count zero & No then jump to BACK
END | HLT ; stop
124)  Write an assembly language program to find largest element in block of data. The

length is in memory location D000H and block begins in memory location Do02H:

Store maximum in DO0O0H. Assume that all number are 8-bit unsiined pinar)

numbers.
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Ans.:
Label Instruction __| Comments
START | LXTH, D001H | ; Address for count in HL pair
MOV C,M ; Get count in reg. C
SUB A ; clear accumulator
LOOP INX H ; Go to address of next memory
CMP M ; Compare memory with ACC
JNC AHEAD | :No larger in ACC, go to label. AHEAD
MOV A, M ; Get larger no. In acc
AHEAD | DCRC ; Decrement count J
JNZ LOOP ; Go to label loop |
STA D0O00OH ; Store result at DOOOH l
END HLT ; stop l

125) Write an Assembly Language Program to Count the Number of times data 7EH is
found in a block of memory location starting from 3000H. Length of block is stored

in location 2FFFH. Store the result in location 2000H. (Oct. 2013)
Ans.:

LABEL | MNEMONICS COMMENTS

START | LXIH, 00 H ; Set count = 00H
LXIH, 2FFFH | ; Set HL pointer to 2FFF H
MOVC M ; Get count in register C

LOOP | INXH ; [H-L]=[H-L]+1
MOV A, M ; Memory contents in A
CPI7EH ; Check whether [H-L] = 7EH or not
JNZ NEXT ; If zero ? No — jump to NEXT
INRB ; Count = count + 1

NEXT | DCRC ; Decrement count
JNZ LOOP ; Repeat LOOP if count # 0
MOV A, B ; Store count in A reg,.
STA 2000 H ; Store count in 2000 H.

END HLT ; Stop

126)  Write a program in Assembly Language that multiply two 8-bit numbers stored in
memory location DO00H and DO01H. Store the two byte result in consecutive
memory locations starting from D002H. (Oct. 2013)
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Ans.:
LABEL | MNEMONICS COMMENTS
START | LXIH, 0000 H | ;Setinitial product = 0
LDA,DO00H | ;Set[A]=N1
MOVE A ; Set [E] = N1
LDA D001H ; Set [A]=N2
LOOP | MVID, 00H ; Set [D] = 00H
DAD D ; Product = product + N1
DCR A ;N2=N2-1
JNZ LOOP ; Repeatif N2 #0
END SHLD D002'H | ; Store product in D000 and D001 H.
HLT ; Stop
127)  Write an Assembly Language program that divides two one byte hex number
where dividend is stored in memory location C000H and divisor is stored in
memory location CO01H. store quotient and reminder in memory location C002H
and C003H respectively.
Ans.:
LABEL | MNEMONICS COMMENTS
START | LXIH, C000H | ;Set HL pointer to divident
MVIC, 00 H ; Set initial quotient = 00H
MOV A, M ; Set A = Divident
INXH ; Set HL pointer to divisor
LOOP CMPM ;ISN12N27?
JC Escape ; Go to Escape if N1 <N2
SUBM ;N1=N1-N2
INR C ; Quotient = Quotient +1 -
JMP LOOP ; Jump to again compare N1 and N2
ESCAPE | INXH ; Increment HL pair
MOV M, C ; Store quotient in C002 H
INXH
MOV M, A ; Store remainder in CO03H
Bl ;Stop
128)  Write an ALP to calculate Sum of Series of Number. Th_e- length of t;ne series i5 1"

memory location C100H and Series itself begins in memory locati

Assume Sum to be an 8-bit No. Store Result in C204H.

https://tpspoint.com/
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Ans. H

LABEL

MNEMONICS |

| START

END

MOV B, A
INXH
ADDM
DAA

INRB
DAA
DCRC

MOV A, B

HLT

LXIH, C101 H
MOV C M
MVI A, 00H

JNC AHEAD

JNZ LOOP
STA C204H

STA C205 H

- COMMENTS

; Set HL pointer to C101 H
; Get count in register C.

; Make LSBs of SUM = 00H.

; Make MSBS of SUM = 00H

; Set HL to point the number in series

; Add previous No + Next No

; Decimal adjust accumulator

; Is carry ? No goto AHEAD

; Yes add carry to MSBS of sum

; Adjust accumulator to decimal content

; Decrement count

; Is count = 07 No jump to LOOP

; Store LSBS of the sum to C204 H
; Get MSBS of sum in Accumulator
; Store MSBS

; Stop

Instruction Set and Programming :_ 8085

https://tpspoint.com/

129)  An Assembly Language Program to Find 2's Complement of mﬂ_n numbers stored
from memory location C030H and onwards. Store the result from memory location

(Oct. 2013)

DO00H.
Ans. :
LABEL | MNEMONICS COMMENTS __
START | LXIH, C030 H | ; Initialize HL with first number _
LXIB, D000 H | ; Initialize BC with Destination
MVI D, 05H ; Store count in reg. D
LOOP | MOV A M : Get the number in Accumulator
| cMA ; One’s complement of No. in A.
INR A ; 2's complement of No. in A,
| STAXB ; Store 2's complement at address pointed by BC pair.
.m INX H ; Increment HL pair
| INX B ; Increment BC pair
DCR D ; Decrement count in reg. D
JNZ LOOP ; Is count zero 7 No jump to LOOD
END HLT ; Stop

130)  Write ALP to store 00H in register B only if the contents memory location 201EH are
odd, Otherwise store EEH in register B.

(March 2014)
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*_—5.. : —  — — — + 5
(LABEL MNEMONICS COMMENTS *
START MVIB EEH Assume o i even ve B = FEN
LDA NMFH Ccontents of 201E H are loaded i A
RRC Rotate tight fo chck TS Rar QDD e EVEN |
INCEND It No. is EVEN then go to END
MVTB (0H “Store (0H in B tor ODD No _
EXD  HLT Stop |
131 5”13 ALP Elm?m fﬂﬁ.~ 2»..33» in a memory block from DOOOH to DOOEH sy,
largest number at S@MEJ. location CS0CH, g
Ans.: ,
LABEL MNEMONICS COMMENTS
ﬂ.ﬁkﬂwl INTH DOWH - Set HL pair at starting adudress
MVIC OFH *Reg C used as loop counter
MOV A M - Contents of memon are voupled o
A
Ur IN\ H SGo to nent addvess
CMPE M s Compare (A) and (H) (1)
1C DOWN S carry = 1 Ges (A (1D (L) then
goto DOWN
MOV A M Move langest no. o A
DOWN DCRC » Decrement loop counter by one
INZUP S ump o U until counter becomes
zere
STA C500H : Store - largest no. at CS00 H
END  HLT stop
132)  Write ALP to add all the BCD rﬂacma in a block from 2001H To 20001, Stowe SUM
at memory location 2000AH. [Assume SUM is 8 bit] Eﬂ
Ans. :

LABEL MNEMONICS |
START LNIH 2001 H

MVIC 09H
\RA A
ADDM
DAA

INX H

oint HE pair at starting address 2001H

Clear A

HA) + (H) (L) A

Decimal adjust accumulator tor BOD addition
| Increment HE pair

COMMENTS

Rey . C as counter
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ﬂ.wr - Instruction Set and Programming of 8085

LABEL | MNEMONICS
DCR C
JNZ UP

~ COMMENTS

;Decrement Loop counter
;Goup untilc =

STA 2000H ; Store BCD sum at 20001 =
HLT ks _ =
' P o
ite ALP to find SU 11 o =
133) S:.:..m ALP to fin, M of a number and its reverse which is stored at memory -
location 2080H. Store SUM at 20811 (March 2014) =
Ans.: &
LABEL | MNEMONICS COMMENTS =
START | LDA 2080H ; Load A with contents of 2080 H M
MOV B, A ; Copy A toreg. B =y
RRC =
RRC | Rotate 4 times Right to obtain reverse of a no.
RRC
RRC
ADDB  |;AddA&B
STA 2081 H ; Store sum at 2081 H
END | HLT

134)  Write ALP to count total number of occurrences of data 9CH in a memory block of
length 16 byte, starting from 1000H. Store count in Register E. (March 2014)

Ans. :
LABEL | MNEMONICS COMMENTS
START | LXIH, 1000H | ; Point HL pair at starting address
MVIC,10H ; Register C used as counter
MVIE, 00H ; E=00H
MVIA, 9CH ; Load A with 9CH
UP CMPM ; Compare A = 9CH with contents of memory
JNZ DOWN ; If contents are not same then jump to DOWN 7
INRE ; Increment E by one _
INXH ; Go to next address i
DOWN | DCRC ; Decrement counter _
JNZ UP ; Jump to UP until count =0 |
L | HLT . S L
135 Write ALP to copy 10 consecutive bytes from memory 2025H to memory locations
BCBCH onwords. (March 2014)
Ans, :

LABEL | MNEMONICS | COMMENTS )
START | LXIH, 2025 H | ; point HL pair at starting address

LXIB, BCBCH | ; BC pair point at destination address
MVI D, 0AH ; Register D  used as counter
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